SA: HIADI= D
2 90| S5 YSHBIENUE/MLHLT - 21S)

9l MBAI 2B HIATHHIENA =2 (Bo: @
2AH -3 .-d2(3) - NRAY - BHAS Oil &4 JIEAN Hns2
Hl&D =D 3,992,962 3,896,982 96,000

= 2,427,041 2,331,041 96, 000

= 1,565,941 1,565,941 0

S0l S5 LSHISBEHLE /TS - 21L) 3,443,929 3,347,929 96,000
= 2,427,041 2,331,041 96,000

= 1,016,888 1,016,888 0

Al 25 HIAHHIEA 2 286,700 192,700 94,000
= 208,650 114,650 94,000

< 78,050 78,050 0

SASYTHER AA(2D) 94,000 0 94,000
= 94,000 0 94,000

201 YLet2 A H| 2,500 0 2,500
- 2,500 0 2,500

01 ALR 2| 2,500 0 2,500
OZNHYASLHHYRERL2Y 2,500 0 2,500

2 2,500 0 2,500

202 01t 1,000 0 1,000
= 1,000 0 1,000

01 ZLHOIHI 1,000 0 1,000
OEXNHYASLHHYURE L2 Y 1,000 0 1,000

= 1,000 0 1,000

308 XtXIEHHSOIA 47,000 0 47,000
2 47,000 0 47,000

01 KRS B AR ES 47,000 0 47,000
OA A SASHNHMERTILSY 31,000 0 31,000

= 31,000 0 31,000

OMEAl FoIBSEH 16,000 0 16,000

= 16,000 0 16,000

405 Tt S| 43,500 0 43,500
= 43,500 0 43,500

01 Rt LB EHSHI 43,500 0 43,500
OZNAYASLMHMERIL2Y 43,500 0 43,500

= 43,500 0 43,500

N IS0t Bl 29 3,157,229 3,155,229 2,000
2 2,218,391 2,216,391 2,000

= 938,838 938,833 0

DIl & MAKIR(2D) 5,000 3,000 2,000
=2 5,000 3,000 2,000

201 YEr2 | 5,000 3,000 2,000
= 5,000 3,000 2,000

03 A2t 5,000 3,000 2,000
OIS B JGBA X 5,000 3,000 2,000

= 5,000 3,000 2,000
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